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Sample Paper – 2009

Class – XI

Subject – Mathematics
Marks: 100







Time : 3 hours
General Instructions :

1. All questions are compulsory.

2. The question paper consist of 29 questions divided into three sections A, B and C.

Section A comprises of 10 questions of one mark each, section B comprises of 12

questions of four marks each and section C comprises of 07 questions of six marks each.

3. All questions in Section A are to be answered in one word, one sentence or as per

the exact requirement of the question.

4. There is no overall choice. However, internal choice has been provided in 04 questions of four marks each and 02 questions of six marks each. You have to attempt only one of the alternatives in all such questions.

5. Use of calculators is not permitted. You may ask for logarithmic tables, if required.

SECTION A

1. Evaluate P(5,5) (1)

2. Find the product of first 5 terms of a G.P. whose third term is 4. (1)

3. Find the modulus and principal argument of − 4 (1)

4. Find the real values of x and y if (x + iy)(2 − 3i) = 4 + i (1)

5. How many chords can be drawn through 21 points on a circle? (1)

6. Find the arithmetic mean between 7 and 13? (1)

7. Check whether 3 is a solution of the inequation 7x + 9 < 30 (1)

8. Find the 4th term from the end of the series ;..........,162

9. How many numbers are there between 100 and 1000 so that every digit of the

number is either 2 or 7? (1)

10. Find the number of terms in the expansion of ( ) ( )10 10

x + y + x − y (1)
SECTION B

11. Find the 11th term from the end in the expansion of  
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12. Prove that the sum of cubes of three consecutive natural numbers is

divisible by 9. (4)
13. If a,b,c are the pth, qth and rth terms of a G.P., show that

(q − r )log a + (r − p)log b + (p − q)log c = 0 (4)
Or
If pth, qth and rth terms of a G.P are a,b,c then find the

value of q q-r .b r-qr.c p-q (4)

14. 
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15. Find 4 numbers in A.P. whose sum is 20 and the sum of squares is 120. (4)
Or
If the mth term of an A.P is 
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, show that the (mn) th term

is 1 (4)
16. Using PMI, prove that n(n +1)(2n +1) is divisible by 6 for all nÎ N (4)

Or
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17. Solve graphically (4)
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18. Find the value of a so that the term independent of x in the expansion of
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19. Solve for 
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(4)
20. In how many ways can the letters of the word “PERMUTATIONS” be arranged if
(i) word starts with P and ends with S? (2)

(ii) vowels are all together? (2)
21. Find all pairs of consecutive odd positive integers both of which are smaller than 10, such that their sum is more than 11. (4)
22.  
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Or
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SECTION C
24. Find the sum of the series

0.7 + 0.77 + 0.777 + 0.7777 + …….. n terms (6)
25. How many permutations can be formed from the word “VOWELS” so that
(i) There is no restriction on letters

(ii) Each word begins with E

(iii) Each word begins with O and ends with L

(iv) All vowels are together

(v) All consonants are together

(vi) All vowels are never together (6)
Or
(a) If =  
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(2)
(b) A tea party is arranged for 16 persons along two sides of a table with 8 chairs

on each side. 4 persons wish to sit on on particular side and 2 on the other

side. In how many ways can they be seated? (4)

26. A manufacturer has 600 L of 12% solution of acid. How many litres of 30% acid solution must be added to it so that acid content in the resulting mixture will be greater than 15% but less than 18%? (6)

27. (a) Express in polar form 
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(b)  
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27. A committee of 5 is to be formed from 6 men and 4 women. In how many ways can it be formed so that
(i) At least 2 women are included

(ii) At most 2 women are included

(iii) No women is included (6)
28. In the binomial expansion of 
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the coefficients of 5th, 6 th and 7 th terms are in A.P, Find the value of n for which this can happen. (6)
Or
Find n if the ratio of the 5 th term from the beginning to the 5 th term from the end

in the expansion of 
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29. (a) Find the sum of the series 2 + 5 + 8 + ……..+ 182 (2)
(b) If the sum of n terms of an AP is 3n 2  + 5n + and the mth term is 164,

find m
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